

Solution for exercise 6.3.1 in Karlin and Pinsky

$$\begin{aligned}\lim_{h \rightarrow 0} P(x(t+h) = 1 | x(t) = 0) &= \lim_{h \rightarrow 0} P(N(t+h) - N(t) = 1) \cdot 1 \\ &= \lim_{h \rightarrow 0} e^{-\lambda h} \cdot \frac{\lambda h}{1} \quad \Rightarrow \\ \lambda_0 &= \lambda\end{aligned}$$

$$\begin{aligned}\lim_{h \rightarrow 0} P(x(t+h) = 0 | x(t) = 1) &= \lim_{h \rightarrow 0} P(N(t+h) - N(t) = 1) \cdot (1 - \alpha) \\ &= (1 - \alpha) \lim_{h \rightarrow 0} \frac{e^{-\lambda h} \lambda h}{1} \quad \Rightarrow \\ \mu_1 &= (1 - \alpha)\lambda\end{aligned}$$